!

Seclim# 1| TRUE/FOLSE

11| False. Whaf is describedis simple iferest.

#2| l;/se, 7%@ amowv'd( of MOﬂE&/ woafc:/ dcreale

b time ﬂmd_ﬁ;wi‘%z ,Jegﬁeaééﬁ( N

( c%ﬁamd/ Mo e c:rdger?

B3| False.  haf ;s descebed is 51@1«@:#&2 3{503#;.

Y 7?:;@'

5|\ e, Depridios is_based om a oy MOM

m#@/ﬁé?‘ Sl -

#0\| Trve.

ﬂ Fa{se. | 1/\@ amowwf ﬂo’uo{ %aﬂfw{s Q(‘z/ht:ﬁcb/ S

it a[[é/ L/m/ Waﬂ MO:'/ wcﬁeazied ol

o
hme fé,weA oA /%e ﬂaaﬁ:\f’wf artovnt

staus the same s he” arvount o

/0 eres%/,/em«m sey\)




Sec% 0N |
wy]
P

ML/Z 7IPLE CHOL C’L

A = P(Hff) P Ji?soo (= t%=006 t=Y
= 42500 /1+ 004x4) -

= #3/00 o

ﬁPY (oef)ops.

. r
= fleposENI_ )| m=4

= 0.0590627 ~ S4%

|

AzpPlee)"  petmo  r:¢%-006

s $asp0 (110.005)  m=i3

Cz -0.06 . e
=¥3/ RO Pt s 0008

N Yx2= 48

—

/‘?PY //«* “1 ,,,.ffééégp.oé

(;+ 0.06 )*‘2, { - m =72

27

2 0.0616 m ~ g 168%

5;m,0/e .«mzer&&‘/’ 5 0{3@ /%e accamu/a/‘{é’c:)( amwwoé S :ﬂcrmima

e /meaﬁ/pj

’% R ﬁ Mal@es‘ Vo Seqse. suice. :}Z a(ecn?w_,, 7

/‘ C é [ooks [iKe i?oMﬂaoWa/ 7 Jéred'f*

D 2 /O@KS /i/(é’ Stil//ﬂ/e 1/)14‘,3/\34"/'

(’31 é‘ looks lke o/e/m?c,



lt03wifiue
Freehand


Secton R

MULTIPLE CHOCE

#7|

APR s &% bf ofef,hz‘/u}v?.

CPL i /987 - <oSt bowse wmr (98F ofa//;bs

#
CPL ,/n R003 cost of house (1003 dolla)§
[13.6 = #2000
/894.0 costof Ao‘t&? il 92003 Jalgabs v
cast-of howe i 2063 delloss = H2q) 000 x (84.C
/13.6
¥
= 38 873.20
_fj_{ B__FO years.
¢ .
o[l Equiliboiwm is hece fedo curves iotecsect. Thi i
aﬂg both © aud %‘. Answe 1s F
O+
_fﬁ[ £(x) :3><(l~>(§
Flo.4) = 3(0.4) CI*CD.‘()
= OI6 .
#/2\ Static Msgfyé 2 S = [HEL x| ocOeecteb - < 4’?.?5{?&&5.
U 30 806 x (66800
uz 4,4 /wr_’//bwpé’«”o{ag

> $4. 4 X365 pel yea?

3 7
= 20 806 ttillion baﬁ??élﬂef‘ﬁfeaf‘) .

4 pilleon = 7 000 000

1 billio =, ©00 600 000



lt03wifiue
Freehand


_SHORT ANSLWER

£1] || Use rule of 70. 7O =37 s

fhe Po0u éwém 7‘0

hE afwé/e

ol — =

//<e> Mg com’goz,w:ﬁ/ u??leﬂiS{ JQMM/:?

p (,,. g B p = 5/44/§000

-3/5"5"/503’0// &,g) = [ 8% = 0.0I8  pel yeal

 swo%a,313 o lymst

N = OH40-2013 = 2F

aithmetic._gaxoth > (pean (il irtecett) .

,_ /@O # /CDWJ& «2&0

—

De(:)rec:sa%m/? ﬁ \/ f?(/ a) ’ﬁ?féw
=H5000 (/- o,/.s) Y AN

""?425’ 4. =308 -20F=6




,N,Az,,zﬁecfov?ﬁ SHOET ﬁ/\JSLJEIQ

._P: 77000
= = 0.06375

M
___*6e.00 53’!&&:

cf:P/ BT / —_— .

- (/csassf,?.s) j

o 85/54‘?7 |

“-"fé/?égf br are the MW%/#’ ,Oaf:wem%

| m?&mé-/m? %ep}mc Qafm e /‘ ot 1S

" Pri = Px L= #9900 x 0.c0531RS

M Hsas 930

thpa*eaéné‘ ffa?s ?‘/,, af*/lt /f mﬂ%@' épawf”m'% goed ﬁwwb{

1/91%(‘6341( 7’;;@ ﬂiﬁ‘f

Ay 17,63 - 5;25 94 = “f%?




Sectiom 3

ShoRT ANSLIER

=

There. are ma/yl Jle wads o cref P

efective mfems? bl s pPY * (”‘"“Jm

= ... /)MWZ, w@aéﬂ:/k?owyﬁ/ [g%é q@ éaeél@

the definibor: 7he effective /zzég;@:ﬁ.fafe 'S

the sipple iteratd pily  that wocld give e

Sam € ac.rumu/al‘zo( aMM el -/A_e Same ’/ﬁr""’é’ Jé’f’(&’/(

— th £ g eﬁ@cﬁvﬁ (w&e

: P(H‘f‘t}) A Fus32.0

C = 453240

Yb3200 = 453210 (1+1) ‘-

463210 - ) = r

453210

= 0.0 220648

: 2.20648 % . 1s fhe eg@éél)ﬁ J‘aw[\?.

p—

[xﬁmméaf pese(ve = {M[ | - J 5 250 (shhe
Wl[/v‘f”'} | /‘ﬁremc)

= ba [ 14250 x0.01 | r=o.0l:=%
m/[ /ro.00] " |

m [lot]

A [R5.902 z;/eabs :




